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\< 5th Grade: Unit 1 Study Guide
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1. Use the image to answer the following question.

A: What is the volume of the package below? ' 38 (‘Cﬂbﬂs
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2. You are designing a toy box that needs to be able to[_h_old 60 cubic meters lof toys.
What might the dimensions be? Choose all that apply. V0 WME~
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3. How many 1-inch cubes are needed to fill a box that is 14 inches long, 2 inches wide, |
and 8 inches high? Explain your answer. M
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4. Ruben is designing a blockhouse. The bottom floor of the blockhouse is shown.
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If Ruben wants the blockhouse to have a volume of 60 cubic inches, how many layers,
exactly like the first layer, will he need to add to get to the needed volume? Show your
work. : iy ML !
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5. AToy Company packs cubic blocks into packages. Each package is shaped like the
figure shown.
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Part A: Write an expression to determine the volume of the pack !
i package
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Part B: Find the total volume of the package. L’LO é Obe & LN +5 0]
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6. Which rectangular prism has the greatest volume? Show the volume of each fo justify.
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7. Saud’s school box is 20 inches long, 5§ inches wide, and 2 inches high. What is the
volume of the school box?
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8. A toy chest has a volume of 120 cubic feet. How wide is the toy chest?
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9. Givinchi parﬁlully fills a rectangular prism with unit cubes, as shown. | =3
What is the volume of the rectangular prism? W=
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10.Analiah and Aeesha each build a figure using centimeter cubes.
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Anaila’s Box

Anaila says her figure has greater volume than Aeesha’s figure because it is taller. Is
Is Analia comrect? Explain your thinking wrien esponse.
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11. James is planning a ping-pong ball party for his family and friends. He wanted to have |

6 sets of paddles available for the party. The paddles will be shipped to James's house
for the party and must be in boxes. WCU\‘!’S G 5@‘1'5 OC M&S
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Each set of paddles requires a base area of 26 square inches when placed flat and a
height of 3 inches ek = qln® ¥ 3in
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If a set of paddiles is placed in a box with the given paddies dimensions, what is the
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If the paddles were set on top of the other, what is the volume of a box that would

hold all 6 sets of paddles? 1 A@%X é
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